str. 71/zad. 64     Koristej]i ja formulata (A + V)2=A2 + 2AV+ V2 presmetaj
 :

a)(x + y) 2 =x2+2xy +y2
b)  (p – q) 2 =p2 - 2pq + q2
v) (x + 4) 2 = x2 +2x4 + 42 =x2 + 8x + 16

g)  ( 3 - x )2 =32 -2·3·x+x2=9 -6x+x2
str. 71/zad. 65   Koristej]i ja formulata (A + V)2=A2 + 2AV+ V2 presmetaj:
a) (2x+y) 2 = (2x) 2 + 2·2x y + y2 =4x2 +4xy + y2  
b) (3x – 4y) 2 = (3x) 2 - 2·3x·4y+(4y) 2 =9x2 - 24xy + 16y2 
в) (5x- 2y) 2=(5x) 2 - 2·5x·2y + (2y)2= 25x – 20xy + 4y2 
str. 71/zad. 66   Koristej]i ja formulata (A + V)2=A2 + 2AV+ V2 presmetaj:

a) (x+ 
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b) (0,1x – y) 2 = (0,1x) 2 - 2·0,1x·y+y2 = 0.01x2- 0,2xy + y2
v) (
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[image: image8.wmf]9

1

x2 + 2xy + 9x2
str. 72/zad. 73   Uprosti:

a)(x +3) 2-(x-2) 2+(x+1) 2-6(x+1)=x 2+6x+9-(x 2-4x+4)+x 2+2x+1-(6x+6)=x 26x+9-x 
2+4x-4+x 2+2x+1-6 =x2+6x
str. 72/zad. 77   Koristej]i ja formulata (A-V)(A-V)=A 2 -V 2 presmetaj:
a) (x - y) (x + y)=x2-y2

b) (m+n) (m-n)=m2 - n2

v) (p+q) (p-q)= p2 - q2

str. 72/zad. 78   Koristej]i ja formulata (A-V)(A-V)=A 2 -V 2 presmetaj:

a) (x + 2) (x - 2)=x2-22=x2-4
b) (x-3) (x+3)= x2-9

v) (x+5) (x-5)=25 - x2

str. 73/zad. 87 

Koristej]i ja formulata (A+V+S)= A 2+V 2+S 2+2AV+2AS+2SV presmetaj:
a) (x+y+z) 2= x 2+u 2+z 2+2xy+2xz +2yz
b)(x-y+z) 2 = x 2+y 2 z 2-2xy -2xz +2yz
v)(x-y-z) 2 = x 2+y 2+z 2-2xy - 2xz- 2yz
str. 73/zad. 91Koristej]i ja Formulata (A+V) 3= A 3+3A 3V+3AV 3+V 3 presmetaj:

a) (x-y) 3=x3-3x3y + 3xy3- y3
b) (x+2) 3= x3+3x32+3x23=x3+6x3+24x+8
v) (y-1) 3 = y3-3y31+3y13-13=y3-3y3+3y-1
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